M4E1 2A8=

T4 FEMETFTRERSRASH

(—fi=Et. Ralast (ERERERR. MERRY—ER) | FXERE OEbk @Z4E, TKkE) )

AR EET






[—ik&EF WAl

R RAGIR BRiEE | FIIESE &t HWEFEOARE e
0] 1] 1 |Esens 3,590,588 17, 168[3, 607, 756| S EMEDBHEL 35 5D
14| 2| 1 LRIFTVANVARREISCSREERS | 105, 735) 10,000 115, 735 SEBEOHEL T 5 L0
141 2 HE - TEUNERNESEERS 0 2,600 2,600(F£EMmIZL 21 (F)
15| 2 HE - TE BRI EEMIS 0 650 650|F¥EEmIC L5 (B)
& 8,979,290 30,4189, 009, 708




[—ik&E mH]

| HE| B REZEZMR BREH fHIEAHE Bl HEEOAR H:';i B HE HT(E %ﬁ@ay{;ﬂ —AREATR BEMEBEONE
1] [mEasn 42, 537 25| 42,782|88 Bk X 2 e 245
P11 |~ 9,721 86| 9, 807faEdEI & B 86
2| 1|1 | A 30,118 186 30,3045 a0EI & 1 186
o 1|1 |~ 213,057 2232|215, 289|sa HaksE s £ 2 2,232
o 1| 7 |~ 45, 422 476| 45, 898|ia Bk I & B 476
2| 1] 9 |~ 9, 887 86| 9, 9mliEarE kot 86
ol 2|1 |—mmann 31,772 42| 32, 14| EEEI X H 18 342
o3 |1 |~ A 12,722 170 12, 802fsa kRl & B 170
31| 1 |~ 54, 986 500| 55, 495|#8 5 aEIC & 2 18 509
31| 1 |mrastans 19, 444 sa| 49,528l EaEIC & HHBHE DR 84
3| 1|3 [HEEEEZE ) g 150 21, 171[iaGEcEls & B 18 150
HEE
32| 1 |—mmeE 8,416 6| s 402lEarEi kB 76
o EEPFBE CHFEICHNTA5RBFNXE (10 e
HE - FETLERMNSE HE - FECLERMS
3|21 [HE ol 3,900 390 Zgl)ﬂaxaoj\\ 5HM X 10N, HHEEI00F 2, 600 650 650[fHEE o 1 (IR
3| 2| 3 |mEmmEALE 65, 380 613| 65, 993|#8 5 aEIc & 18 613
s 1|1 |~ e A 19, 376 253 19, 629|853 X HHE 253
s 1|1 | A 37,052 09| 37,461 (65801 & B 409
4| 1|1 [EEkcaEELsmES | 119,582 190|119, 1726 BEEIC & 2B S0 190
a1 gﬁgﬁﬁﬁ“”@%%ﬁ 2,418 1571 2,575l EEeEIr X B SO 157
611 |—mmaime 9, 440 82| 9 502lEEI kB 82
61| 2 |—mmApe 20, 124 21| 20,385|#8 51T & 288 261




[—ik&E mH]

Z|E| B REELIN BRIEE FHIEEH &t HEEOAE H:'.i BEXH&e T & %%@Eaﬂﬂ — AR REHROAR
6|16 |[EErynakpns 33,100 18,300 51,400 HTS T LI AHE] BELER 18,300 %%%%%gu;égégﬁ
& (—REFER)
6117 |—mmearse 5,732 98| 5,830 EnEI LB 98
6| 1|10 |—mme sz 8, 249 0] 8 319fkERERC LS 70
6|21 |—mmarss 6,983 66| 7,049 5REIC & B 66
7111 |~ 25,415 241| 25, 656| BREI £ 2 241
1|1 |—mArsn 49, 855 512) 50,367/ BRkEIC & B 1 512
8 14| 1 [NEERESRRAEO) 15 5 19] 181, 700[fa 5 1 & B MBSO 119
0] 1] 2 [gEEAme 12, 466 13| 12, 539 HREL & B 73
10] 1|2 |—memasz 25,413 264 25,677/ HREIC £ BB 264
10] 4|1 |—mmass 13,761 168] 13, 920[8a 580EI & B8 168
& 8,979,290  30,418| 9,009, 708 2,600 650 27, 168




[E RERAREZER 25T

A

#| = AL R | WER | A MEROME fiz

1] 1 HEREESEAS 5,697 84 5,181 [ 5EIZ & 218
it 654, 168 84 654,252

odar

| & KIRATS B | WEE | A MEGEONE T2 |mzme | mr | 20 e | sewEons

1)1 —fRBE A 5,697 84 5 T8l [fa5EIZ L 218 84 HMEWREESRAS
& 654, 168 84| 654,252 0 84 0




(M EERBRY — Y AFE R 25t]

BA
;| A RAZIR BEREE | MHIEZE &t HIEFHDOHE i
311 —fR2EHEAS 2,418 157 2,575 |t 5t EIC & B8
g 34,182 157 34,339
7dan
| REELH BEIREH | FHIERR &t FHIEFEDANE &F;? BXti& | HE %ﬁwﬁj}m — AR REMIRONE
11 — BB 17,754 157 17,911 [} 5-8EIC L 588 157
i 34,182 157 34,339 0 157 0




Db &t 3 &
et
| = KIHAT g | WEE | MEHOME T2 |mzme | mr | 20 e | sesEons
1)1 wEE 610, 061 4,877 614, 938|fa5tEIC LB 4,871
{1 3= 278,099 146 278, 245 #45- LI L 18 146
&t 1,130,605 5,023| 1, 135, 628 0 5,023 0




(L VSEE S S RES

A
| ® |8 AL R | WER | A MEROME fiz
1] 2] 2 |—fkaitmBe 30,636 190 30, 826 [#45- LI & 1
E 230,498 190| 230, 688
et
w|®| = RIELTD g | WEE | A MEMONE B2 \mzme | me | 320 | —sww|  semmons
L 1]2 |#FkE 17,018 190 17, 208 [}6 5- B EIZ & 218 190
& 265,098 190| 265, 288 0 0 0 190 0




[FrkEER=E 3 %]
BA
;| A RAZIR BEREE | MHIEZE &t HIEFHDOHE i
1|2 —fk2EHEBE (RHETKE) 94,008 119 94, 127|fa 5 EIC L 518
&t 264,619 119 264,738
7dan
| REELH BEIREH | FHIERR &t WEEOHNE &F;? BXti& | HE %%wﬁjjm — AR REMIRONE
1|1 HWiRE 5,610 119 5 129|M(EREIZL 58 119
i 293,699 119 293,818 0 119 0




	空白ページ



